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Z VSUDZLH RNUHpOHQLD WHUPLQpZ SU]HSURZDG]DQLD SRVWHSRZDQLD UHNUXWDF\MQHJR RUD]
SRVWHSRZDQLD X]XSHNQLDMTFHJR� Z W\P WHUPLQRZ VN�DGDQLD GRNXPHQWpZ� QD URN V]NROQ\
��������� GR SXEOLF]Q\FK V]Np¶U SRGVWDZRZ\FK SURZDG]RQ\FK SU]H] 0LDVWR *OLZLFH RUD]
SRGDQLD GR SXEOLF]QHM ZLDGRPRpFL NU\WHULpZ EUDQ\FK SRG XZDJH Z SRVWHSRZDQLX
UHNUXWDF\MQ\P L SRVWHSRZDQLX X]XSHPLDMTF\P� GRNXPHQWRZ QLH]EHGQ\FK GR
SRWZLHUG]HQLD VSHPLHQLD W\FK NU\WHULpZ� D WDN�H OLF]E\ SXQNWRZ PRLOLZ\FK GR X]\VNDQLD
]D SRV]F]HJpOQH NU\WHULD GOD NDQG\GDWRZ GR NODV , V]NR� SRGVWDZRZ\FK ]DPLHV]NDO\FK
SR]D REZRGHP V]NR�\�
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]DU]TG]D VLH� FR QDVWHJSXMH�

� �� 2NUHpOD VLH WHUPLQ\ SU]HSURZDG]DQLD SRVWTSRZDQLD UHNUXWDF\MQHJR RUD]
SRVWTSRZDQLD X]XSH�QLDMDBFHJR� Z W\P WHUPLQ\ VNLDGDQLD GRNXPHQWRZ� QD URN V]NROQ\
��������� GR NODV\ SLHUZV]HM SXEOLF]QHM V]NROU\ SRGVWDZRZHM� GOD NDQG\GDWpZ
]DPLHV]ND�\FK SR]D REZRGHP V]NR�\� ]JRGQLH ] ]D�TF]QLNLHP QU � GR QLQLHMV]HJR
]DU]DBG]HQLD�
� �� .U\WHULD EUDQH SRG XZDJH Z SRVWTSRZDQLX UHNUXWDF\MQ\P L SRVWTSRZDQLX
X]XSHOPLDMTF\P GR NODV , V]NR� SRGVWDZRZ\FK SURZDG]RQ\FK SU]H] 0LDVWR *OLZLFH GOD
NDQG\GDWpZ � NWRU\FK PRZD Z � � RUD] GRNXPHQW\ QLH]EHGQH GR SRWZLHUG]HQLD
VSHPLHQLD W\FK NU\WHULRZ� D WDNLH OLF]E���� SXQNWRZ PRLOLZ\FK GR X]\VNDQLD ]D
SRV]F]HJpOQH NU\WHULD RNUHpOD XFKZD�D QU ;;,9��������� 5DG\ 0LDVWD *OLZLFH ] GQLD ��
PDUFD ���� U� Z VSUDZLH RNUHpOHQLD NU\WHULpZ Z SRVWHSRZDQLX UHNUXWDF\MQ\P GR NODV
SLHUZV]\FK SXEOLF]Q\FK V]NR¶U SRGVWDZRZ\FK� NWRU\P XVWDORQR REZRG� GOD NDQG\GDWRZ
]DPLHV]ND�\FK SR]D REZRGHP V]NR�\ KWWSV���ELS�J,LZLFH�HX>SXE�XFKZDO\�������SGI
����NUHpOD VLH WHUPLQ\ SU]HSURZDG]DQLD SRVW��JSRZDQLD UHNUXWDF\MQHJR RUD]
SRVWTSRZDQLD X]XSHPLDMTFHJR� Z W\P WHUPLQ\ VNpDGDQLD GRNXPHQWpZ� QD URN V]NROQ\
��������� GR NODV GZXMT]\F]Q\FK� ]JRGQLH ] ]D�DBF]QLNLHP QU � GR QLQLHMV]HJR
]DU]DBG]HQLD�
� �� 2NUHpOD VL��� WHUPLQ\ SU]HSURZDG]DQLD SRVWTSRZDQLD UHNUXWDF\MQHJR RUD]
SRVWHSRZDQLD X]XSHPLDMTFHJR� Z W\P WHUPLQ\ VN¶UDGDQLD GRNXPHQWpZ� QD URN V]NROQ\
��������� GR NODV VSRUWRZ\FK ]JRGQLH ] ]D�TF]QLNLHP QU � GR QLQLHMV]HJR ]DU]DBG]HQLD�
� �� :\NRQDQLH ]DU]DBG]HQLD SRZLHU]D VLF� G\UHNWRURP V]Np¶U SRGVWDZRZ\FK RUD] ]HVSR�RZ
Z VN�DG NWpU\FK ZFKRG]L V]NR�D SRGVWDZRZD�
� �� 1DG]pU QDG Z\NRQDQLHP ]DU]TG]HQLD REHMPXMF�� RVRELpFLH�
� �� =DU]TG]HQLH SRGOHJD SXEOLNDFML Z %LXOHW\QLH ,QIRUPDFML 3XEOLF]QHM�
� �� =DU]TG]HQLH ZFKRG]L Z L\FLH ] GQLHP SRGSLVDQLD�
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/S� 5RG]DM F]\QQRpFL
7HUPLQ Z

SRVWTSRZDQLX
UHNUXWDF\MQ\P

7HUPLQ Z
SRVWTSRZDQLX
X]XSHOQLDMTF\P

=�µR�HQLH ZQLRVNX R SU]\MHFLH GR
V]NROU\ SRGVWDZRZHM ZUD] ]
GRNXPHQWDPL SRWZLHUG]DMTF\PL
VSHPLDQLH SU]H] NDQG\GDWD ZDUXQNpZ
OXE NU\WHULRZ EUDQ\FK SRG XZDJT Z
SRVWJSRZDQLX UHNUXWDF\MQ\P�

�����������
����������

GR JRG]LQ\ �����

����������
����������

GR JRG]LQ\ �����

:HU\¿NDFMD SU]H] NRPLVMH�
UHNUXWDF\MQT ZQLRVNpZ R SU]\MHJFLH GR
V]NR�\ SRGVWDZRZHM L GRNXPHQWpZ
SRWZLHUG]DMTF\FK VSHLQLDQLH SU]H]
NDQG\GDWD ZDUXQNRZ OXE NU\WHULpZ
EUDQ\FK SRG XZDJT Z SRVWRSRZDQLX
UHNUXWDF\MQ\P�
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3RGDQLH GR SXEOLF]QHM ZLDGRPRpFL
SU]H] NRPLVMH UHNUXWDF\MQDB OLVW\
NDQG\GDWRZ ]DNZDOLILNRZDQ\FK L
NDQG\GDWRZ QLH]DNZDOLILNRZDQ\FK�
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3RWZLHUG]HQLH SU]H] URG]LFD
NDQG\GDWD ZROL SU]\MTFLD Z SRVWDFL
SLVHPQHJR RpZLDGF]HQLD�
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3RGDQLH GR SXEOLF]QHM ZLDGRPRpFL
SU]H] NRPLVMT UHNUXWDF\MQT OLVW\
NDQG\GDWRZ SU]\MTW\FK L NDQG\GDWRZ
QLHSU]\MTW\FK�
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=LR]HQLH ZQLRVNX R SU]\MTFLH GR NODV\
GZXMJ]\F]QHM ZUD] ] GRNXPHQWDPL
SRWZLHUG]DMTF\PL VSHLQLDQLH SU]H]
NDQG\GDWD ZDUXQNRZ OXE NU\WHULpZ
EUDQ\FK SRG XZDJJ Z SRVWTSRZDQLX
UHNUXWDF\MQ\P�
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8]XSHLQLHQLH ZQLRVNX R SU]\MHFLH GR NODV\
GZXMT]\F]QHM R pZLDGHFWZR XNRU¿F]HQLD
NODV\ 9,�
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:HU\ILNDFMD SU]H] NRPLVMJ UHNUXWDF\MQT
ZQLRVNRZ R SU]\MJFLH GR NLDV\
GZXMH]\F]QHM L GRNXPHQWRZ
SRWZLHUG]DMTF\FK VSHLQLDQLH SU]H]
NDQG\GDWD ZDUXQNRZ OXE NU\WHULRZ
EUDQ\FK SRG XZDJH Z SRVWTSRZDQLX
UHNUXWDF\MQ\P�
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3RGDQLH GR SXEOLF]QHM ZLDGRPRpFL SU]H]
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QLH]DNZDOLILNRZDQ\FK�

���������
RG JRG]LQ\ �����

����������
RG JRG]LQ\ �����

3RWZLHUG]HQLH SU]H] URG]LFD NDQG\GDWD
ZROL SU]\MTFLD Z SRVWDFL SLVHPQHJR
RpZLDGF]HQLD�

��������� ²
���������

GR JRG]LQ\ �����

���������� �
���������� U�

GR JRG]LQ\ �����
3RGDQLH GR SXEOLF]QHM ZLDGRPRpFL SU]H]
NRPLVMH� UHNUXWDF\MQT OLVW\ NDQG\GDWRZ
SU]\MHW\FK L NDQG\GDWpZ QLHSU]\MTW\FK� ���������

GR JRG]LQ\ �����
���������� U�

GR JRG]LQ\ �����

=� VU\P�
� U� , B �=DVWRSFD )UD LYª +ZLOND

ZZFMLD :HEHU � 
 ³���
L �



7(50,1< 3267(32:$1,$ 5(.587$&<-1(*2 25$= 3267(32:$1,$ 8=83(/1,$-$&(*2

GR =DU]DBG]HQLD QU 30 ���
��
"��¶���������
3UH]\GHQWD 0MDOVWD *OLZLFH

=DLTF]QLN QU

$ 7$.=( 7(50,1< 6./$'$1,$ '2.80(172: '2 ./$6 632572:<&+

/3 5RG]DM F]\QQRpFL
7HUPLQ Z

SRVWTSRZDQLX
UHNUXWDF\MQ\P

7HUPLQ Z
SRVWTSRZDQLX
X]XSHLQLDMTF\P

�

=LR]HQLH ZQLRVNX R SU]\MTFLH GR NODV\
VSRUWRZHM ZUD] ] GRNXPHQWDPL
SRWZLHUG]DMTF\PL VSHLQLDQLH SU]H]
NDQG\GDWD ZDUXQNpZ OXE NU\WHULRZ
EUDQ\FK SRG XZDJJ Z SRVWRSRZDQLX
UHNUXWDF\MQ\P�
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3U]HSURZDG]HQLH SURE VSUDZQRpFL
IL]\F]QHM� 'R SURE VSUDZQRpFL
¿]\F]QHM SU]\VWTSXMT W\ONR &L
NDQG\GDFL� NWRU]\ SRVLDGDMDB EDUG]R
GREU\ VWDQ ]GURZLD SRWZLHUG]RQ\
RU]HF]HQLHP OHNDUVNLP Z\GDQ\P
SU]H] OHNDU]D SRGVWDZRZHM RSLHNL
]GURZRWQHM�
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:HU\ILNDFMD SU]H] NRPLVMT
UHNUXWDF\MQT ZQLRVNRZ R SU]\MTFLH GR
NODV\ VSRUWRZHM L GRNXPHQWRZ
SRWZLHUG]DMTF\FK VSHLQLDQLH SU]H]
NDQG\GDWD ZDUXQNRZ OXE NU\WHULpZ
EUDQ\FK SRG XZDJT Z SRVWTSRZDQLX
UHNUXWDF\MQ\P�
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3RGDQLH GR SXEOLF]QHM ZLDGRPRpFL
SU]H] NRPLVMR UHNUXWDF\MQT OLVW\
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QLHSU]\MHW\FK�
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